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(1). ¦4�

lim
(x,y)→(0,0)

1− cos[ex(x2 + y2)]

(x2 + y2)2
.
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(2). ��È©^S¿¦È©��µ
∫ 1

0 dx
∫ 1

x e
1−y2dy.

(3).¦�?ê
∑∞

n=2
2n

n (x− 1)n�Âñ�"
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(4). )�©�§yy′ = 2x+ y.

(5). ¦¼êZ = x4 + y4 + 2016 3^� x+ y = 2þ����"
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(6). ®��ÅCþξÑl��©ÙN(µ, 4)§�?ê
∑∞

n=1 n
ξÂñ�

VÇ�0.5§ ¦µ 9 ξ �êÆÏ" Eξ;

2!!!OOO���KKK£££���KKK÷÷÷©©©10©©©¤¤¤ �²¡«�D = {(x, y)|π2 ≤ x2 +

y2 ≤ 4π2}§O��­È©∫∫
D

[sin
√
x2 + y2 + sin(2xy)]dxdy

.
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3!!!OOO���KKK£££���KKK÷÷÷©©©10©©©¤¤¤ ®�¼êy(x)÷v�§y′′+4y′+3y =

π(3x + 4), �y(0) = π, y′(0) = 0. Pan = y(n), n = 1, 2, · · · , Á�ä

?ê
+∞∑
n=1

n sin an

�ñÑ5¿`²nd"
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4!!!OOO���KKK£££���KKK÷÷÷©©©8©©©¤¤¤Ðm
d

dx

(ex − 1

x

)
� x ��?ê§¿¦?ê

+∞∑
n=1

n

(n+ 1)!
�Ú.

5!!!£££���KKK÷÷÷©©©8©©©¤¤¤ ���¼êf(u, v)äkëY�� �ê§z =

z(x, y)d�§

(x+ 1)z + y2 = 2x2f(x, y + z)

(½, ¦��© dz|(0,1).
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6!!!OOO���KKK£££���KKK÷÷÷©©©10©©©¤¤¤ ®��F�S?\,ûÁ��

�êηÑlëê�30�Poisson©Ù£=P (η = n) = 30n

n! e
−30, n =

0, 1, 2, · · ·¤§
z ��¢S	Ô�VÇ�1
3 , ¦�F�S¢S	Ô

���ê8ξ �©Ù§¿¦ξ �êÆÏ"±9��"
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7!!!yyy²²²KKK£££���KKK÷÷÷©©©6©©©¤¤¤ ���¼êz = f(x, y)34ü �

�D : x2 + y2 ≤ 1þëY§3D�SÜD0 : x2 + y2 < 1þäkëY 

�ê§�÷v�§

z = (x2 + y2)
∂z

∂x
+ 2016(

∂z

∂y
)2.

XJz = f(x, y)3D�>.£=4ü �±∂D : x2 + y2 = 1¤þ��

ð�"§�y²¼êz = f(x, y)34ü ��D : x2 + y2 ≤ 1þ��

ð�""
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